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1. Wiits your name and index number in the space provided.

2. Do not tum over the page undil you are told to do so.

3. Foliow all instructions carefully.

4. Answer all questions,

8. mmmmmWMM(mymm
8. The use of caloulators s NOY allowed

This bookiat consiste of 8 printed pagoes and 2 blank peges,
OO0R/(A)
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Giuestions 1 to 10 canty 1 mmmﬁﬂmswzmm_

For each question, four oplions ara given. One of them Is the correct answer,

Makaymwdwioeﬂ.z.3&r4}aﬁsﬁﬁemmm&s0mm%%m)
0 ma

1 Round 56 354 io the nearost 1000.
(1) 68000
{2y 656300
@ 56400
(4) 57000

2 In18.624, which digitis n the tenths place?
m v
(@ 2
® 6
4 B8

3 Amange the following numbers from the smallest fo the largest.

7 13 70

Smallest Largost
) 7 , 703 . 13
@ 73 . 7 . 108
@ 73 , 703 A
@ 703 , 13 .

OODEI(A)
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4  Express % as a decimal.

(1) 0425
(@) 125
(3 125

(9) 125

5 in a magathon, thers are 40 Malay parficipands, 70 Chinese participants and 30
indian participants. What is the ralio of the number of Malay parlicipants to the
total number of Chinese and indian participants?

(1) 2:5
2y 2:7
(3 4:3
49 4:7

6  Johnis thinking of  number. 40% of the rumber Is 36, What is the number?
M @
@ 1"
)] 54"
49 90

000B/H{A)
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Alnl spent $40 in school In January. In February, she spent $32 in school. Find the

(1) 8%

@ 20%

3 2%

@ 712%

Simplify 9 + 5d—3d + 4,
() 5+2d

2 5+éd

(3) 18+2d

(4}' 13 +8d

Which of the following is the most likely mass of a calculator shown below?
(Y 6&g

@) 159
-(3) 150¢g
(4) 1500g

00DAMH{AY
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6

Which of the following is the same as 8050 cm?

(1
(2
(3)
4)

8mboem
8mb0cm
80mbcm

80 m 50 cm

Below are the operating hours of ABC Derdal Clinlc.

© ABC Dental Clinic
Opm'asﬁbndaybﬁiday
Closed on weekends

8.30am. o 12.30 p.m.

7 pan. 10 9,15 p.m.

\.

How long Is the clinic open on Wednesday?

XY

(2)

3

4

8 h 15 min
8 h 15 min
7 h 15 min

6 h 15 min

DO0G/H{A)
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13

7

The figure shows a circle inside a square of side 14 cm,

Find the area and perimetsr of the circle, Take sﬂgg.

Area
(1) 164cm?
@) 154cm?
(3) 44cmt
4) 220w
Mrs Lim had =

mmmmmmmmm.mmmga How much

14 om

5

7

8
L of syrup. She mixed the syrup with Elcfwaharto mako fruit

frult punch was left?
ot
@ 3t
@ =t
W

0008/1(A).
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14

12

JPS™ o  O A UEA JSERP T - o o

10

YIRS UL Y

, ST T

Number of siudents

19
25
64

(1)
(2)
(3)
4 78

Find the total number of books read by students who read more than 2 bocks.

44  The graph below shows the number of books that the sludents in Class 6A read
inaweek
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15  Halim's result slip was accidentally tom, His average mark for 4 subjects is 78.
Part of his Mathematics and Sclence marks are missing. What Is the greatest

M 10
@ 18
@ 10
4 4

(o on i Bookdet B)

Q00e1(A)
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BLANK PAGE

DOOBM{A)
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ERRATA

Class: 8

Repiace Page 7 Quesation 13 with the following question
13 Mrs Lim had %tufw.&nnwﬁmwm %lofwata_r.to make frult

punw.mmmmhmmw.mmmméh How much

frult punch was loft?
M st
@ 3t
{3) ‘:l'%_l
@ 3t

OOOB/MH{A)
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PRIMARY &

MATHEMATICS
PAPER 1
(BOOKLET 8)

Total Time for Booklets A and B: 1 hour

1. Write your name and index number in the space providad.,
2. Do not tum over tha page until you are told to do s0.

3. Foliow all instructions carsfully.

4, Answer all questions.

5. Write your answers In this booklet.

8. The use of calculators is NOT aflowed.

Narke Oblained
Paper 1 { Booklet A .
145
Bookiet B
Paper2 : 55
Total a | 1100
{
Parent’s Signature:

This booklet consists of 12 printed pages and 2 blank pages.

o002
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Questions 18 to 20 carry 1 mark each. Wiite your answers in the spaces provided, | Dornotwrite
For questions which require units, give your answers in the units stated. -~ (5 marks) | I his space

16 Measure and wiits down the siza of £ARC.
A |

Ans: |

17 The volume of the cuboid is 96 c¢m® The area of the shaded face Is
8 erm?. Find the height of the cubold.

7oem

{Go on to the next page)
6008M(B)
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18 Figurs A and B are nets of solids,

Figure A Figure B

Circle the words that describe the figures above.

Figure Alsanstofa{ pism { pyramid )
Figure B isanetofa( prism / pyamid ).

19 There are 4 shaded squares in the figura. Shade 3 more squares to form a
symmeadric figure with AB as the fine of symmelry.

e

DOOBH(B)

More papers at www.testpapersfree.com

BP-~230

Do notwrite
in this space




BP-231

&
- o Do not writ
@ ABCD Is a trapezium with AB paralie! to DC. Find 2. apAispod
Ans ! .
{Go on to the next page)

0008/4(B}
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6

Questions 21 to 30 canry 2 marks each. Show your working clearly and write your | Do notwile
answers in the spaces provided. For question which require units, give your answers in this space
in the units stated. (20 marks)

21 (a) Find the value of gm
Give your answer in fraction in the simplest form.

Ans: (a)

{b) Find thevalue of 2+ 8,
Give your answer correct to 1 decimal place.

Ans (b}

0008/4(B)
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7
.22  (a) Which fraction is smalier? gn&rztm
4 2
9 3
Ana:(a};,
5 2 9
(b) Armange 2,3, 3 indecreasing order.
Ans : (b} . .
(Go on to the next page)
000RH{B)
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23 The square grid shows the positions of points A, B, C, D, E, F, Gand H. Do not write
_ inthis space
1 T & T T
AL 1B L
i ! f : : N
rc? Qﬁ F;, —
! 5 4
% -

Y ot e
e s .
SRR T
-—T—< L +ms
H
% uu-uoni-u-,m“u =

{a) Inwhich direction is point A from point D?

Ans: (a)

{(b) Winnle is at point B facing East at first. She tums 138° clockwise.
Which point is she facing after the tum?

Ans: (b)

000B1(B)
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24 Abox contains red, green, biue and biack markers. rgx
%cﬂm m«mmmﬂ.%ﬂﬂmmmmm‘ The

number of bitie and black markers are equal.
What fraction of tho markers In the box are blue?

Ans:

28 Johnls t years old, His mother Is 25 years older than him,

(a) How okl is John's mother?
Express your answer interms of £

Ans : (a) years old

{b) What s their total age when £= 107

Ans : (b) _years old

{60 on to the next page)
OODBF(E) P
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26 Draw the following cubold on the isometic grid.

L] ] -
» » ] -
a L] L
E ] L} » ]
- 1 [ ]
» 1 [ 3 -
2od” ., .
- 2 - L]
. * . H
3 units 2units 1. * | .
* - -

BP-236

Do riot write
in this space

27 The figure shows a rectangular glass box filled with unit cubes.
How mary more unit cubes are needed to filt the box completely?

0008/4{B}
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1
28 n the figure, ABCD is a square. BCE is an equilateral triangle. Do not witls
Find £AEB. nSlsspace
A
>,
Ans: N
{Go on to the next page}
OO0BH{E)
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20 A triangle ABC Is drawn on a square grid. | Do not write

In this space

{a) Using triangle ABC, drew rhombus ABCD.,

{b) Draw a triangle ACE such that area of ABC Is -;-ofﬂxeareaofACE.

Triangle ACE must not overiap with trilangle ABC.

D00RH{B)
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30 The figure below is made up of 3 dentical squares, ABCD, BEFG and BHUK. | Dortwrle
ZABG = 40° and £HBE = 30°. Find ZKBC.

End of Paper

0008/ (B)
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BLANK PAGE
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PRELIMINARY EXAMINATION 2022
PRIMARY 8
MATHEMATICS
Paper 2

‘Total Tims for Paper 2: 1 hour 30 minutes

1. Write your name and index number in the space provided,
2. Do notturn over the page until you are told to do so.

3. Follow all instructions carsfully

4. Angwer afl questions.

5. Wrils your answers in this booklet.

8. The use of an approved caladator is allowed,

Marks QObtained
Total Max Mark
55
. Name ; {
Class : 6
Dats : 24 August 2022 Parent’s Signature ;

This booklet consists of 18 printed pages and 2 blank page.
o2
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BP-~243

~ Questions 1 to 5 carry 2 marks each. Show your working clearly and writs your answers | Do notwrite
In the space provided. For quasfions which require units, give your answers in the unils in this space

stated.

(10 marks) |

el

1 The mass of a watssmelon i 4.82 kg, The mass of a pineapple Is 2.65 kg lighter

than the mass of the walermsion.
What is the fotal mass of the two fruits?

Ans:

kg

2  The figure shows a squate divided into two rectangles A and D and two squares

B and C. The perimeter of rectangle A is 14 cm.

Find the value of p.
A B me
¢ o ||@e+nom
"

Ans: p=

om L

000872
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3 Mrsl.aahadasunoﬁmneyhspmd.&mmnt%ofhermowp&mﬁona

notebook. Next, shespent%efharramkﬂngmneymeﬂﬁnkandshawaslsﬁ
with $9. How much money did she have at first? '

Ans: $ .

BP-244

Do not write
in this space

4  The figure below is made of a square BEFG and 2 triangles ABH and CBD,

ABE, HBD and GBC are siraight lines.
Findthavalbeol Lat Lb+ Lo+ Ld
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5  The figure below.shows 2 contalners, A'and B.- , ﬁﬁhﬁi
Container A containg 10 Lof water. _ ' o
Contalner 8 has.a.base area of 1000 cin?.and was emply af first.

Base area = 1000 om?2

‘When Tap A is tumsd on, tha height of water in cortainer B increases by 2 cm
per-minute. What s the voluma of the waler left in confziner A after
Tap A 15 tumed on for 2 minutes?

{Go on to the nex{ page)
000872
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For questions 6 o 17, show your wotking clearly and write your answers in the spaces | Do notwiits
provided, The number of marks available Is shawn In bracksts [ ] at the end of each | In thie space
question or part-question. (45 marks)

6  Muifina are sold in boxes of 6, 8 and 15. John bought 12 boxes of 6 muffins and
some boxes of 8 and 15 muffins. He bought a total of 188 muffins. How many
boxes of 18 muffins did John buy?

Ans: 31

7  Ared T-shirt is sold ata 15% discount and a biue T-shirt at a 30% discount. Both
shirts have the same price before tha discount. The discounted price of the red
T-shirt is $6 more than the discounted price of the blue T-shirt. What Is the price
of a ted T-shirt before the discount?

00082
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7

The figure below is made up of © squares of skies 3 cm. Triangle ABC Is Do oturte

‘.

(a_)_' Find the area of unshaded part.

Ans: (a) _ 2
(b) Find the area of shaded part.
Ans: (b) M
{Go on to the next page)

tonaz
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In the figure below, ABCD is a parallslogram and DBF Is an lsosceles triangle
with FD = FB. ZDFB = 70° and ZDEB= 86°. Find £BDC.

BP-248

Do not wiiks
in this space
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10  The ratio of the number of apples fo the number of pears in a supemarket wes ;?afg;ﬁ

5:86. %dfihaapnlaamﬁ'l pears were rotten. The roften apples and pears

were thrown away. In the end, there was an equal nhumber of apples and pears

Ans: 7

0008/2
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10
11  James bought key chaine and trading cards at the prices shown below. Do not write

in this space
i . -
Key Chain Trading Card

4for $17 3for$s

Me bought an equal number of keychalns and trading cards. He spent $78 more |
on keychains than trading cards. How many key chains did he buy?
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1"

12 Town A and B are 400 km apart. Alex left Town A for Town B traveling at a guﬂgtm.
constant speed of 65 km/h. At the same time, Ben loft Town B for Town A, |
iraveliing at a constant speed of 85 kmvh. Both of them took the same route, How
long did they take to pass each other? Leave your answers In hows and minutes,

00062

More papers at www.testpapersfree.com




BP-~252

12
13 Inthe figure below, ACFH and BDGJ are klentical paralielograms. s spae
EFH is a tiangle. ABCD and JHGF are straight lines. | |
Given that ZCDE = 65° and ZCEH = 100°,
A B C D
(a) Find ZBJH.
Ans: (8) — I
(b} Find ZDBJ.
Ans: (b) 1
{0) Find LEWF,
Ans: {¢) 2

o002
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14  The graph shows the charges for water usage. ?ﬁf&

400

300 |

%) — 1 /f: g —

. = — ——t+F

1] 20 40 80 80 100 126
Vohume of watsr (m3)

(a) Find the charges when 40 m® of water is used.

Ans; (a) 11

(b) The Les family paid $260 for the volume of water used in July. What'
was the volume of walsr used?

Aner (b)___ Ul

{c) How much is the charge for every cubic meveéfwateraﬁer
40 m¥?

Ans: (c) . 1

00082
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14
15 Tha bar graph below represent how Bryan tised his money In Saptember. Do not write
The amotunt of money is not shown on the scale in the bar graph below. [nthis space

Amount
(%)

lhé

Rent Savings‘o‘happing Food 'i‘ranspmt

g:waryanusadmsmmymsmpbarisabompmenmmmmem
low.

(a) (i),

(a) Label the pia chart by writing 'Shopping’ and 'Rent’ In the blanks above.
{tm]

008/2
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(b) | Each of the statements below Is either true, false or impossiie (o tell
from the information given. For each satement, put a tick (V') to indicate

shopping to the amount spent on
food iz 3 : 4,

(e} What fraction of his money did he spend on shopping?

Ans: (¢}

B

BP-~255

Do not writs
in this spacs

000872
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16 Mrs Chan used white and grey coloured papers o fonm figures that follow a
pattern as shown below.

Figure 1 Figure 2 Figure 3 Figure 4

The table beiow shows the number of while and grey coloured papers for the first
four figures.

{a) Fillinthe table for Figure 5.

TS

B_P-ZSB

Do not wifle
In this space

Figure Number 1 2 3
Number of white coloured paper| 1 3 8 10
Number of grey coloured paper | 0 1 3 8
Total mmnber of paper 1 4 9 18
{b) How many white and grey coloured papers are there in Figure 20
altogether? :
| o). [
{¢) A figureinthe patiern has a total of 1444 white and grey coloured papers.
What Is the Figare Number?
() i1
000822
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17

| : Do not write
17  Flgure A and B are made up of identical quarter circles. In this spece

Figura A Figire B
The perimeter of the shaded part of Figure A is 140 cm more than the perimeter
of the unshadad part of A.

Find-the area of the total shaded part in Figure B. Take x= -2-:?

End of Paper

00082
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18 ‘

BLANK PAGE
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MATHEMATICS
PRIMARY 6
Paperd

) 3 5) a 0} 3
2) 3 7) 2 12) i
3) i 8) 3 13) 1
4) 3 ) 3 14) | 3
B) 1 10) 4 18] 2
ICHON yoXul s

Questions 16 to 20 casry 1 mark each.
Questions 21 to 30 carry 2 marks sach.

(For Q21 to Q30,1 mark wilt be awarded for the final method mark even if the
answer Is wrong. A2 will be awarded for the correct answars as some pplls
might do the questions mentally.)

127 £ 1
12

16)
17) 2
18) | Figure A - prism
Figure -» pyramid
19) | Reforto ploture

20) 33

e —

%

%
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Note: Q21 to 30 carry 2 marka each

21, &)

by C
7.58_7._.
24, ;-l-a-xEﬁ QSMMM
AP
§+23&
26. a) {t + 25) yours old or (25 +{) years okd
b) 48 years
m -y * " s
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29,

30, ZGBK=sHBE = 30°
LKBC = 00° — 40° — 30° = 20°
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Paper2

4822855217
482 +217=0.90

p+1+ +iep+p=6Bpe+2
% » 8p+2=14
p={14-2)+6
=2

04+323
2+3x4=14
14 x2=28

180° + 180° = 360° {sum of 2 triangles)
360" - 90° = 270°

2x2x1=4
10-4=6¢

12x6=272
188~72= 118
mmmmm

Saulfing | 15muffine
E{zfxsa?z 7x8=66 |4x156=60

1jss8

B6% ~ 70% = 16%
15% -» §8

%> 8§2

100% > $2 % 20 = $40

b) 9x9=81
81-408=31 5o’

a)-.(éxaxa)**(%xs.‘v:e)ﬂ%xsx9)‘n49;5a'n'=

5

AFDBH(‘I&G‘-—?O‘)&&

zancamasw 55° - 86
= 30°
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10.

A:P=5:86
=20:24

Rhﬁmxi' =5
RP=24-156=89

8 units = {71

tunit= 19

20 units = 19 x 20
= 380

11t

1 set of 12 keychains - $17 X 3= 8§51
1 set of 12 frading canie > $8 x 42§32
Gifference of 1 set= $51 - $32 =818
$76 + $19=4

4% 12=48

12.

05+ 85 = 150
400 + 150

ﬁ%hﬂﬁidﬁm

13. {a) )

{b)
{c)

E T35
ZDBJ = 180° ~ 88 = 118°
LEHF = 100° - 86° = 35°

14,

{a)
()
{¢)

$50
100 m*

(200 ~ 140) / (60 - 80)
x$3 _ _

E!sati for identifying the correct corresponding x and y value
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15, (ai) | Rent
(alf) | Shopping
) |tue
(ol) | faise
© |3
16.(a) |16 (& 10 (26
() |(20x20)=400
{¢) |38x38=1444
17, Ar=140
a5x36=1228
%x%a&xwam
1225 ~ D62.5 = 2655

35 x 35 + 962.5 = 1750 om?
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